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1
® y=x @ -=x
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® xy=2
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chelo] ofmz
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f(x) =2x% - 3x0|B2=2
f(0) =0, f(1) = -1, f(2) =2
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© f(x) = @ f(x)= -2
@) 1(x) = 3x @ flx)=20+3

x) £ D F A a, b ol W5 fla+b) = f(a) + f(b)
. °]

@ fla+b) =la+Db|
fla)+ f(b) =lal+1b|
ol @ |a+ b| < |al + |b]
@ f(a+b)=—(a+b)?=—a®-2ab-b?
fla) + f(b) = —a® - b?
® fla+b)=3(a+b)=3a+3b= f(a)+ f(b)
@ fla+b)=2(a+b)+3
fla)+ f(b)=2a+3+2b+3=2(a+b)+6
®f(a+b) =(a+b)*+3(a+b)
= (a+ b)(a® + 2ab + b* + 3)
fla)+ f(b) =a®+3a+b*+3b
=a’+b3+3(a+b)
= (a+b)(a® —ab + b+ 3)




= & mon ol ool B f(x) = B flmn) = f(m) + f(n)
flEssie
f2)=a,f3)=b L £(24) S a,b S WA JERYH?
D a+2b @ 2a+b ® 2a+3b

@)3a+b ® 3a+2b
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o, £(0) 9] #k& skt

> E

flx+y) = f(x) + f(y) oA
x=0,y=0= Y5t
f(0+0) = £(0) + £(0), £(0) =2£(0)

- f(0) =
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oA f(x) 7Aool A, yoll ®iste f(x)f(y)
flx=y), f(1) =15 A ®, £(0) + f(2) o w2
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FOFO) = flx+y) + fx-y) & BFIE=Z
x=1,y=1& A thelstnl
1=1-1=f(1)f(1) = f(2) + £(0)

) +£(2) =1




10. REAHSx, yoﬂ t5}od flx+y)=f(x)+ £y = utEs E—f(x) 7}
Ak £(1) =3 D o, f(-1) 9 e P2

@‘3 ®—% ® 0 ) ® 3
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B

flx+y) = f(x) + f(y) oA

x=0, y=0= st

f(0+0) = £(0) + f(0), f(0) =00+
x=1y=-1& t4std

fO)=fA+ (1)) = fQ) + f(-1) =0
f(=1) ==f(1), f(1) =3°]|B2

o f(=) =3
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Q% A9 AFNA B B £(x) 7H b F 2AS W

), £(1280) o #- Autel7t?

(1) f(2x) = f(x) (x=1,2,3,..)
(i) f(2x+1) =2"(x=0,1,2,3,---)

D 2 ©Y ® 8 @ 16 ® 32

B

1280 =28 .5 0|2 &

f(2%-5) = f(2"-5) = f(2°-5) = --- = f(5)
= f(2-2+1)°128,

f(2-24+1)=22=4
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Q1elel sl tste] @4 f 7} ohg T 270E WA o,

F()+ £(2) + f(3) +--- + f(2008) o] 447

D1 @)3 ® 4 @ 2007 ® 2008
B
(oA f(x+2) =f(x+1) - f(x) O BZ
fB)=f2-f1)y=2-1=1
f4)=f3)-f2=1-2=-1
fG)=f4)-fB3)=-1-1=-2
f(6)=f(5)-f4)=-2-(-1)=-1
f(N)=f6)-f6)=-1-(-2) =1
fB)=f(-f(6)=1-(-1)=2
werA FQ) = £(7). f£(2) = £8), f(3)=F(9), -,
f(x) = f(x+6) o1l
FQ)+£(2)+ fB) + f(4) + f(5) + f(6) =0 °| 2=
)+ (2 ) ( ) + -+ f(2008)
=334 {f(1) + f(2) +--- + f(5) + £(6)}
+ £(2005) + f(2006) + £(2007) + £(2008)
=334-0+1+2+1+(-1)=3
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f(x) =gx) ol B2

2x% = 10x =5 = —x* + 2x + 10914
3x2—12x-15=0,3(x* —4x-5) =0
(x=5)(x+1)=0

Lox=95, -1

F,x=5FEEx=-14 M f(x) = g(x)°lt}.
S X ={-1}, {5}, {-1, 5}
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%0 WG ZoIM Z 29 5 17} £(1) = -2, fla+b) = fla)+(b)
Z

@ £(0)=0 @ f(-x) = ~f(x)
® f(2x) = 2/(x) @)1 < 0017 f(x) < flx)
® x1 # x2°1H f(x1) # f(x2)
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